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1084 e. Dokazati da je za sve prirodne brojeve n ≥ 0 :  122 85265|59 ++

+⋅+
nnn  

 

Za n = 1 

 

 
122 85265|59 ++

+⋅+
nnn  
12121 85265|59 ++

+⋅+  
33 85265|59 +⋅+  

512130125|59 ++  

767|59  

 

Pretpostavka da  za n = k ,  122 85265|59 ++

+⋅+
kkk  

 

Za n = k+1 

 

 

 
( ) 112121 85265|59 +++++

+⋅+
kkk  

 
( ) 112121 85265|59 +++++

+⋅+
kkk  

 
122 864526555|59 ++

⋅+⋅⋅+⋅
kkk  

 
12122 85985526555|59 +++

⋅+⋅+⋅⋅+⋅
kkkk  

 

( ) 12122 859852655|59 +++

⋅++⋅+⋅
kkkk  

 

( ) 12122 859|59852655|59 +++

⋅∧+⋅+⋅
kkkk  
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